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B.Com. Part III

COMMERCE

Paper III

[Management Account]

Time : Three Hours ] [ Maximum Marks : 75

uksV % [k.M ^v* vfry?kq mÙkjh; izdkj dk] ftlesa nl iz'u gSa]
vfuok;Z gSA [k.M ^c* esa y?kq mÙkjh; izdkj ds iz'u gSa ,oa
[k.M ^l* esa nh?kZ mÙkjh; iz'u gSaA [k.M ^v* dks lcls igys
gy fd;k tkuk gSA

Note : Section �A� containing 10 very short answer type
questions, is compulsory. Section �B� consists of
short answer type questions and Section �C�
consists of long answer type questions. Section �A�

has to be solved first.

[k.M ^v*
Section �A�

fuEukafdr vfry?kq mÙkjh; iz'uksa ds mÙkj ,d ;k nks okD;ksa
esa nsaA
Answer the following very short answer type
questions in one or two sentences. 1×10=10

1. izcU/kdh; ys[kkfof/k D;k gS\

What is Managerial Accounting ?

2. vuqikr fo'ys"k.k fdls dgrs g®\

What do you mean by Ratio-analysis ?

3. jksdM+ izokg fdls dgrs g®\

What do you mean by Cash Flow ?

4. dk;Z'khy iw¡th fdls dgrs g®\

What do you mean by working capital ?

5. lhekUr ykxr esa va'knku D;k gS\

What is contribution in marginal costing ?

6. LFkk;h ykxrsa D;k gksrh g®\

What is fixed cost ?

7. 'kwU; ctV D;k gS\

What is zero budget ?

8. LFkkbZ ctV fdls dgrs g®\

What is fixed budget ?

9. izeki ykxr esa ^izfrdwy* ls D;k vk'k; gS\

What is �unfavourable� in standard costing ?

10. ekud nj fdls dgrs g®\

What is standard rate ?
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[k.M ^c*
Section �B�

fuEukafdr y?kq mÙkjh; iz'uksa ds mÙkj 150-200 'kCn lhek

esa nsaA

Answer the following short answer type questions

with word limit 150-200. 5×5=25

1. izcU/kdh; ys[kkfof/k ds izeq[k dk;Z D;k g®\

What are the main functions of Management

Accounting ?

vFkok

Or

fuEufyf[kr ls vkSlr laxzg vof/k Kkr dhft,µ

`

(i) 'kq¼ m/kkj fcØh 13,14,000

(ii) nsunkj 2,00,000

(iii) izkIr fcy 10,000

Find out average collection period from the following :

`

(i) Net credit sales 13,14,000

(ii) Debtors 2,00,000

(iii) Bills receivable 10,000

2. dks"k ds izeq[k òksrksa dks crkb,A

State the main sources of funds.

vFkok

Or

ifjpkyu dh fØ;kvksa ls jksdM+ izokg dSls gksrk gS\

How is cash flow by operating activities ?

3. lhekUr ykxr fof/k D;k gS\ bldh izeq[k fo'ks"krkvksa dks
crkb,A

What is marginal costing ? Discuss its main

characteristics.

vFkok

Or

fuEu ls ykHk&ek=k vuqikr Kkr dhft,µ

`

foØ; 1,00,000

LFkkbZ ykxr 30,000

ykHk 20,000
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Calculate profit-volume ratio from the following :

`

Sales 1,00,000

Fixed cost 30,000

Profit 20,000

4. ctV D;k gS\ ctVksa ds izdkj crkb,A

What is budget ? Explain the types of the budget.

vFkok

Or

fu"iknu ctV D;k gS\ blds mís'; ,oa ykHkksa dks crkb,A

What is performance budgeting ? Discuss its objectives

and advantage.

5. fuEu ls lkexzh ykxr fopj.k dh x.kuk dhft,µ

izeki ek=k 40 fdxzk okLrfod ek=k 48 fdxzk

izeki ewY; ` 10 izfr fdxzk okLrfod ewY; ` 12 izfr fdxzk
From the following calculate material cost variance :

Standard Qty. 40 kg Actual Qty. 48 kg

Standard price ` 10 per kg Actual price ` 12 per kg

vFkok

Or

izeki ykxr fof/k D;k gS\ blds ykHkksa dks crkb,A

What is standard costing ? Discuss its advantages.

[k.M ^l*
Section �C�

fuEukafdr nh?kZ mÙkjh; iz'uksa ds mÙkj 300-350 'kCn lhek
esa nsaA
Answer the following long answer type questions

with word limit 300-350. 8×5=40

1. izcU/kdh; ys[kkadu ,oa foÙkh; ys[kkadu esa vUrj crkb,A

Distinguish between management accounting and

financial accounting.

vFkok

Or

fuEu vk¡dM+ksa ls x.kuk dhft,µ

(a) ldy ykHk vuqikr

(b) 'kq¼ ykHk vuqikr

(c) pkyw vuqikr

(d) rj.k vuqikr

`

foØ;  34,000

foØ; okilh 4,000

foØ; dh ykxr 20,000
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'kq¼ ykHk 3,000

py lEifÙk;k¡ 6,000

LdU/k 1,000

py nkf;Ro 2,000

From the following data calculate :

(a) Gross profit ratio

(b) Net profit ratio

(c) Current ratio

(d) Liquid ratio

`

Sales 34,000

Sales returns 4,000

Cost of sales 20,000

Net profit 3,000

Current assets 6,000

Stock 1,000

Current liabilities 2,000

2. xkSjo fy- ds fuEu fpV~Bk ls dk;Z'khy iw¡th esa ifjorZu dh
lwph cukb,µ

31 ekpZ] 2018 31 ekpZ] 2019

`  `  

lEifÙk;k¡µ

Hkwfe ,oa Hkou 50,000 50,000

Iyk.V ,oa e'khujh 24,000 34,000

LdU/k 9,000 7,000

izkIr fcYl 16,500 19,500

jksdM+ 4,000 9,000

1,03,500 1,19,500

nkf;Roµ

iw¡th 80,000 85,000

ykHk&gkfu 14,500 24,500

cU/kd ½.k � 5,000

ns; fcYl 9,000 5,000

1,03,500 1,19,500

From the following B/S of Gaurav Ltd., prepare a

schedule of changes in working capital :
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31 March, 2018 31 March, 2019

Assets : ` `

Land and Building 50,000 50,000

Plant and Machinary 24,000 34,000

Stock 9,000 7,000

Bills receivables 16,500 19,500

Cash 4,000 9,000

1,03,500 1,19,500

Liabilities :

Capital 80,000 85,000

Profit-Loss 14,500 24,500

Mortgage Loan � 5,000

Bills payables 9,000 5,000

1,03,500 1,19,500

vFkok
Or

(i) jksdM+ izokg fooj.k dk egRo crkb,A

(ii) fofu;kstu fØ;kvksa ls ,oa foÙkh; fØ;kvksa ls jksdM+
izokg dh fofHkUu enksa dks crkb,A

(i) Discuss the importance of cash flow statement.

(ii) State the various items of cash flow by investment

activities and financial activities.

3. fuEu lead X Ltd. ls lEcfU/kr gSaµ

lkekU; {kerk izfr ekg 5,000 bdkb;k¡

ifjorZu'khy ykxr izfr bdkbZ ` 10

okLrfod mRiknu 5,400 bdkb;k¡

foØ; ` 20 izfr bdkbZ

dqy foØ; 5,000 bdkb;k¡

fLFkj dkj[kkuk mifjO;; ` 10,000

vU; fLFkj O;; ` 20,000

vo'kks"k.k ykxr fof/k ds vk/kkj ij vk; fooj.k rS;kj
dhft,A

The following information are related to X Ltd. :

Normal capacity per month 5,000 units

Variable cost per unit ` 10

Actual production 5,400 units

Sales ` 20 per unit
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Total sale 5,000 units

Fixed factory overhead ` 10,000

Other fixed charges ` 20,000

Prepare income statement under absorption costing.

vFkok

Or

,d jsfM;ks fuekZrk dks irk pyrk gS fd vo;o P17 dks

cukus dh ykxr ` 6.25 izfr bdkbZ gS] tcfd ogh cktkj

esa ` 5.75 esa miyC/k gSA ykxr dk fooj.k bl izdkj gSµ

` izfr bdkbZ

lkexzh 2.75

Je 1.75

ifjorZu'khy O;; 0.50

LFkk;h ykxrsa 1.25

6.25

(a) vki cuk,¡xs ;k [kjhnsaxs\

(b) ;fn vkiwfrZnkrk ` 4.85 dh nj ls iwfrZ djs rks vkidk
D;k fu.kZ; gksxk\

A radio manufacturer find that while it costs ` 6.25

per unit to make component P17, the same is available

in the market at ` 5.75 each. The break-down of cost

is as under :

` per Unit

Materials 2.75

Labour 1.75

Variable expenses 0.50

Fixed costs 1.25

6.25

(a) Will you make or buy ?

(b) What would be your decision, if the supplier

offered at ` 4.85 per unit ?

4. ,d dkj[kkus esa 1,000 bdkb;ksa ds mRiknu ds fy, O;;
ctV uhps fn;k x;k gSµ

` izfr bdkbZ O;;

lkexzh 50

Je 30

ifjorZu'khy O;; 20

fLFkj O;; 10

izR;{k O;; 5

fLFkj foØ; O;; 15
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fLFkj forj.k O;; 10

fLFkj iz'kklfud O;; 6

fLFkj O;; ,oa iz'kklfud O;; lHkh Lrjksa ij fLFkj jgsaxs]

tcfd foØ; O;; ` 5,000 o forj.k O;; 20% lHkh
Lrjksa ij fLFkj jgsaxsA

800 ,oa 600 bdkb;ksa ds mRiknu ds fy, ctV rS;kj
dhft,A

The expenses budget for 1,000 units of production, in

a factory are given balow :

` per unit

Materials 50

Labour 30

Variable expenses 20

Fixed expenses 10

Direct expenses 5

Selling expenses fixed 15

Distributing expenses fixed 10

Fixed administration expenses 6

Fixed expenses and administration expenses are rigid

at all level of production, while selling expenses

` 5,000 and distribution expenses 20% will rigid at

all level.

Prepare a budget for production of 800 and 600 units.

vFkok

Or

mÙkjnkf;Ro ys[kkadu D;k gS\ mÙkjnkf;Ro ys[kkadu dh
fo'ks"krk,¡ ,oa izeq[k mÙkjnkf;Ro dsUnksa dks crkb,A

What is responsibility Accounting ? Describe the main

features and responsibilities centres of responsibility

accounting.

5. ,d fuekZ.kh laLFkk ftlus izeki ykxr fof/k viukbZ gqbZ gS]
fuEu lwpuk,¡ iznku djrh gSµ

80 bdkbZ ds fuekZ.k ds fy, izekfir lkexzh 100 fdxzk-

lkexzh dk ewY; izfr fdxzk- ` 1.20 gSA

okLrfod mRiknu 2,40,000 bdkbZ

okLrfod mRiknu ds fy, iz;qDr lkexzh 3,15,000 fdxzk-

iz;qDr lkexzh dh ykxr ` 3,46,500

lkexzh ykxr vUrj] lkexzh ewY; vUrj o lkexzh mi;ksx
vUrj dh x.kuk dhft,A

A manufacturing concern which has adopted standard

costing methods, furnishes the following information :

Required material for 80 units manufacuturing product

100 kg.

Material price per kg is ` 1.20.

Actual production 2,40,000 units.
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Material used for actual production 3,15,000 kg

Cost of used material ` 3,46,500.

Calculate material cost variance, material price variance

and material uses variance.

vFkok

Or

fuEu lwpukvksa ls Je ykxr vUrj] Je nj vUrj] Je
dq'kyrk vUrj ,oa Je mRifÙk ek=k vUrj dh x.kuk
dhft,A

izeki okLrfod

mRiknu 1,000 bdkbZ mRiknu 1,200 bdkbZ

etnwjh ij ` 6 izfr bdkbZ etnwjh nh xbZ ` 8,000

dqN le; 50 ?k.Vk dqy le; 40 ?k.Vk

From the following information calculate labour cost

variance, labour rate variance, labour efficiency

variance and labour yield variance and test your answer.

Standard Actual

Production 1,000 units Production 1,200 units

Wages rate ` 6 per unit Wages paid ` 8,000

Time taken 50 Hrs Time taken 40 Hrs

r r r r r d r r r r r
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